VEVOR'

TOUGH TOOLS, HALF PRICE

ROOF RACK
USER MANUAL

We continue to be committed to provide you tools with competitive price. "Save Half", "Half
Price" or any other similar expressions used by us only represents an estimate of savings you
might benefit from buying certain tools with us compared to the major top brands and does
not necessarily mean to cover all categories of tools offered by us. You are kindly reminded to
verify carefully when you are placing an order with us if you are actually saving half in
comparison with the top major brands.



VEVOR’ e

User Manual
TOUGH TOOLS, HALF PRICE

Model: BYCD-002 e

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



A Safety & Warning

Read and understand this entire manual before assembling, installing,
operating, or servicing this product.Failure to follow these warnings
and instructions can cause death, personal injury or damage to
valuable property.

Adhere to all Department of Transportation (D.O.T.) requirements
when using this product. Use ropes and tie downs to securely hold all
cargo in place.

Do not overload the Roof Rack. Never exceed the maximum weight
capacity of 200 Lbs.

Make sure the vehicle is in a safe place for loading ladders and other
cargo. Make sure the vehicle’s engine is OFF, with parking brake set,
before loading or unloading the Roof Rack.

Do not use to hold or restrain human or animal weight in any manner.
Before and after each use, check to make sure that all hardware is
tightly secured. Regularly inspect for damage. If fraying or distortion is
found, immediately discontinue use.

Use common sense when working. Stay alert and concentrate when
setting up and using the Roof Rack. Never work while under the
influence of alcohol, drugs or medications.

While assembling and using the Roof Rack keep work area clean and
well lighted. Keep spectators and children out of the work area.

Main specifications

Model Series BYCD-002
Maximum Load Capacity (lbs) 200

Gross Weight(kg) 20
MEAS(mm) 980x780x190




Parts List

figure 1
Item Name Qty Specification
1 Front Basket 1
2 Rear Basket 1
3 Basket Saddle 4
4 Basket Top Plate 4
5 U-bolt 4 M6%17.8%6 8
6 Round Head Hexagon Bolt 4 M8x40
7 Plum Nut 8 M6 37x23x23
8 Flat Pads 4 M8
9 Side Plate 2
10 Lock Nut 4 M8
11 Casing 2
12 Cargo package 1

Installation Guide:

Step 1

Insert the two casing (11#) to front basket (#1) .Slide the rear basket (2#) to
front basket (#1) together. Attach the side plates (9#) with round head
hexagon bolt (6#), flat pads (8#) and lock nut(10#) .shown as figure 2.
Position basket on the roof bars of the vehicle at last.

-3-



fi 2
Step 2 igure

Snap the saddle (3#) onto the basket, shown as figure 3. The saddle must
sit on the cross bars of the vehicle. Secure it with the U-bolt (5#), Basket
top plate (4#) and plum nut (7# ) .shown as figure 4.

INote: Always position the saddle away from the center for maximum
support .shown as figure 5.

figure 5

figure 4



When installed, the pentagram pattern of the side panels faces upwards.

Overall effect



Address: Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Shanghai

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122

Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

UK

REP

EC

REP

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147, Centurion
House, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.



VEVOR"

TOUGH TOOLS, HALF PRICE
Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

PORTE-BAGAGES DE TOIT

MANUEL D'UTILISATION

Nous continuons & nous engager & vous fournir des outils & des prix compétitifs. « Economisez la moitié¢ », « La moitié
Le « prix » ou toute autre expression similaire utilisée par nous ne représente qu'une estimation des économies que vous
pourriez bénéficier en achetant certains outils chez nous par rapport aux grandes marques et ne signifie pas
nécessairement couvrir toutes les catégories d'outils que nous proposons. Nous vous rappelons avec plaisir que
vérifiez soigneusement lorsque vous passez une commande chez nous si vous économisez réellement la moitié
comparaison avec les plus grandes marques.



Machine Translated by Google

VEVOR ® Galerie de toit
Manuel d'utilisation
TOUGH TOOLS, HALF PRICE

Modeéle : BYCD-002

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur nos produits ? Vous avez besoin d'assistance technique ? N'hésitez pas a

nous contacter :

Assistance technique et certificat de garantie
électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement toutes les instructions du

manuel avant de I'utiliser. VEVOR se réserve le droit d'interpréter clairement notre manuel d'utilisation.
L'apparence du produit dépend du produit que vous avez regu. Veuillez nous excuser, nous ne

vous informerons plus en cas de mise a jour technologique ou logicielle de notre produit.



Machine Translated by Google

A Sécurité et avertissement

Lisez et comprenez l'intégralité de ce manuel avant d'assembler, d'installer, d'utiliser ou d'entretenir ce

produit. Le non-respect de ces avertissements
et les instructions peuvent entrainer la mort, des blessures corporelles ou des dommages a
propriété de valeur.

Respecter toutes les exigences du ministere des Transports (DOT)

lors de I'utilisation de ce produit. Utilisez des cordes et des attaches pour maintenir solidement tous les

chargement en

place.  Ne surchargez pas la galerie de toit. Ne dépassez jamais le poids maximum
capacité de 200 Ib.

Assurez-vous que le véhicule est dans un endroit sr pour le chargement des échelles et autres
Assurez-vous que le moteur du véhicule est éteint et que le frein de stationnement est serré avant
de charger ou de décharger la galerie de toit. ~ Ne I'utilisez

pas pour maintenir ou retenir le poids d'une personne ou d'un animal de quelque maniére que ce soit.

Avant et aprés chaque utilisation, vérifiez que tout le matériel est
bien fixé. Inspectez régulierement les dommages. En cas d'effilochage ou de déformation,
trouvé, cesser immédiatement I'utilisation.

Faites preuve de bon sens lorsque vous travaillez. Restez vigilant et concentrez-vous lorsque
installation et utilisation de la galerie de toit. Ne travaillez jamais sous la galerie
I'influence de I'alcool, de drogues ou de médicaments.
Lors du montage et de I'utilisation de la galerie de toit, gardez la zone de travail propre et

Bien éclairé. Gardez les spectateurs et les enfants hors de la zone de travail.

Spécifications principales

Série de modeles BYCD-002
Capacité de charge maximale (Ib) 200

Poids brut (kg) 20

MESURE (mm) 980x780x190




Machine Translated by Google

Liste des pieces

A & ) ] y 9 12
T > > | I g
0 S 10
e 2 e -
G2 9 |
= ) : oo
= L ,.\
8
6
figure 1
Article Nom Quantis Spécification
1 Panier avant 1
2 Panier arriere 1
3 Selle de panier 4
4 Plagque supérieure du panier 4
5 Boulon en U 4 M6x17,8x6 8
6 Boulon a téte ronde et a six pans creux 4 M8x40
7 Noix de Prune 8 M6 37x23%23
8 Plaquettes plates 4 M8
9 Assiette a coté 2
10 Contre-écrou 4 M8
11 Enveloppe 2
12 Paquet de fret 1

Guide d'installation :

Etape 1
Insérez les deux boitiers (11#) dans le panier avant (#1). Faites glisser le panier arriére (2#) pour
panier avant (#1) ensemble. Fixez les plaques latérales (9#) avec la téte ronde

boulon hexagonal (6#), tampons plats (8#) et contre-écrou (10#) .illustrés comme sur la figure 2.
Positionnez enfin le panier sur les barres de toit du véhicule.

-3-



Machine Translated by Google

. figure 2
Etape 2

Fixez la selle (3#) sur le panier, comme illustré a la figure 3. La selle doit reposer sur les
barres transversales du véhicule. Fixez-la avec le boulon en U (5#), la plaque supérieure
du panier (4#) et I'écrou a prune (7#) comme illustré a la figure 4.

JRemarque : positionnez toujours la selle loin du centre pour un soutien maximal,

comme illustré sur la figure 5.

figure 3

®

/‘

figure 5

figure 4



Machine Translated by Google

Une fois installé, le motif pentagramme des panneaux latéraux est orienté vers le haut.

Effet global



Machine Translated by Google

Adresse : Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Shanghai

Fabricant : Shanghaimuxinmuyeyouxiangongsi

Adresse : Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, Shanghai
200 000 CN.

Importé en Australie : SIHAO PTY LTD. 1 ROKEVA STREET EASTWOOD NSW 2122
Australie

Importé aux Etats-Unis : Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITEE.

aerresentad oo rovameans | AS YH Consulting Limited Bureau 147, Centurion
Maison, London Road, Staines-upon-Thames,

Surrey, TW18 4AX

E-CrossStu GmbH

REPRESENTAN'| DE LA CE Mainzer Landstr.69,

60329 Francfort-sur-le-Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Assistance technique et certificat de garantie

électronique www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

DACHTRAGER

BENUTZERHANDBUCH

Wir sind weiterhin bestrebt, lhnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten. ,Sparen Sie die Halfte*, ,Halb
Der Preis" oder andere &hnliche Ausdriicke, die wir verwenden, stellen lediglich eine Schatzung der Ersparnis dar, die Sie durch
den Kauf bestimmter Werkzeuge bei uns im Vergleich zu den wichtigsten Top-Marken erzielen kdnnen, und bedeuten nicht
notwendigerweise, dass alle von uns angebotenen Werkzeugkategorien abgedeckt sind. Wir méchten Sie freundlich daran erinnern,
prufen Sie sorgfaltig, wenn Sie bei uns bestellen, ob Sie tatséchlich die Halfte sparen in
Vergleich mit den Top-GroBmarken.



Machine Translated by Google

VEVOR =~
Bedienungsanleitung
TOUGH TOOLS, HALF PRICE

Modell: BYCD-002

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Sie haben Fragen zu unseren Produkten? Sie bendtigen technischen Support? Dann kontaktieren

Sie uns gerne:
Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgféltig durch, bevor Sie

das Gerat in Betrieb nehmen. VEVOR behalt sich eine klare Auslegung unserer Bedienungsanleitung
vor. Das Erscheinungsbild des Produkts richtet sich nach dem Produkt, das Sie erhalten

haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut informieren, wenn es Technologie- oder

Software-Updates fur unser Produkt gibt.



Machine Translated by Google

A Sicherheit und Warnung

y Lesen Sie das gesamte Handbuch sorgféltig durch, bevor Sie mit der Montage, Installation, Bedienung
oder Wartung dieses Produkts beginnen. Bei Nichtbeachtung dieser Warnungen
und Anweisungen konnen zu Tod, Verletzungen oder Schaden am
wertvolles Eigentum. y

Halten Sie alle Anforderungen des Department of Transportation (DOT) ein
bei der Verwendung dieses Produkts. Verwenden Sie Seile und Zurrgurte, um alle
Ladung an Ort und

Stelle. y Uberladen Sie den Dachgepécktrager nicht. Uberschreiten Sie niemals das maximale
Tragfahigkeit von 200 Pfund.

y Stellen Sie sicher, dass das Fahrzeug an einem sicheren Ort steht, um Leitern und andere
Ladung. Stellen Sie sicher, dass der Motor des Fahrzeugs ausgeschaltet ist und die Feststellboremse
angezogen ist, bevor Sie den Dachgepécktrager be- oder

entladen. ¥ Verwenden Sie ihn nicht, um menschliches oder tierisches Gewicht in irgendeiner Weise zu

halten oder zu fixieren. § Uberpriifen Sie vor und nach jedem Gebrauch, ob alle Teile richtig befestigt sind.
fest sitzen. RegelmaRig auf Beschadigungen prifen. Wenn Ausfransungen oder Verformungen
festgestellt, beenden Sie die Verwendung sofort.

y Gehen Sie mit gesundem Menschenverstand an die Arbeit. Bleiben Sie aufmerksam und konzentriert,
Aufstellen und Verwenden des Dachgepécktragers. Arbeiten Sie niemals unter dem
Einfluss von Alkohol, Drogen oder Medikamenten. y Halten

Sie wahrend der Montage und Verwendung des Dachgepéacktragers den Arbeitsbereich sauber und

gut beleuchtet. Zuschauer und Kinder vom Arbeitsbereich fernhalten.

Hauptspezifikationen

Modellreihe BYCD-002
Maximale Tragfahigkeit (Ibs) 200
Bruttogewicht (kg) 20

MaRe (mm) 980 x 780 x 190




Machine Translated by Google

Ersatzteilliste

g LS < 5
L"LILI >
Abbildung 1 6
Artikel Name Menge Spezifikation
1 Vorderkorb 1
2 Hinterer Korb 1
3 Korbsattel 4
4 Obere Korbplatte 4
5 U-Bolzen 4 M6x17,8x6 8
6 Sechskantschraube mit Rundkopf 4 M8x40
7 Pflaumennuss 8 M6 37%23%23
8 Flache Pads 4 M8
9 Seitenplatte 2
10 Kontermutter 4 M8
11 Gehause 2
12 Cargo-Paket 1

Installationsanleitung:

Schritt 1
Setzen Sie die beiden Geh&use (11#) in den vorderen Korb (#1) ein. Schieben Sie den hinteren Korb (2#) in
Vorderkorb (#1) zusammen. Befestigen Sie die Seitenplatten (9#) mit Rundkopf

Sechskantschraube (6#), Flachpolster (8#) und Kontermutter (10#), siehe Abbildung 2.
Positionieren Sie den Korb schlief3lich auf den Dachtragern des Fahrzeugs.

-3-



Machine Translated by Google

Abbildung 2
Schritt 2

Befestigen Sie den Sattel (3#) am Korb, wie in Abbildung 3 gezeigt. Der Sattel muss auf den Quertragern des
Fahrzeugs sitzen. Sichern Sie ihn mit dem U-Bolzen (5#), der Korboberplatte (4#) und der Pfostenmutter (7#), wie

in Abbildung 4 gezeigt.

JHinweis: Positionieren Sie den Sattel fir maximale Unterstiitzung immer etwas von der Mitte weg, wie in

Abbildung 5 dargestellt.

Abbildung 3

o
&

Abbildung 4

Abbildung 5




Machine Translated by Google

Gesamtwirkung



Machine Translated by Google

Adresse: Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Schanghai

Hersteller: Shanghaimuxinmuyeyouxiangongsi

Adresse: Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Shanghai
200000 CN.

Nach AUS importiert: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australien

Importiert in die USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITED.

UK REP C/O YH Consulting Limited Office 147, Centurion

3

Haus, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH

Vertretpr der EG| Mainzer Landstr.69,
60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

PORTAPACCHI
MANUALE D'USO

Continuiamo a impegnarci per fornirti strumenti a prezzi competitivi. "Risparmia la meta", "Meta
"Prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta solo una stima dei risparmi che
potresti ottenere acquistando determinati utensili con noi rispetto ai principali marchi di punta e non
significa necessariamente coprire tutte le categorie di utensili da noi offerti. Ti ricordiamo cortesemente di
verifica attentamente quando effettui un ordine con noi se stai effettivamente risparmiando la meta
confronto con i principali marchi.



Machine Translated by Google

VEVOR® Portapacchi

Manuale d'uso
TOUGH TOOLS, HALF PRICE

Modello: BYCD-002 <

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sui prodotti? Hai bisogno di supporto tecnico? Non esitare a contattarci:

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

Questa ¢ l'istruzione originale, si prega di leggere attentamente tutte le istruzioni del
manuale prima di utilizzare. VEVOR si riserva una chiara interpretazione del nostro manuale
utente. L'aspetto del prodotto sara soggetto al prodotto ricevuto. Vi preghiamo di

perdonarci se non vi informeremo di nuovo se ci sono aggiornamenti tecnologici o software sul
nostro prodotto.



Machine Translated by Google

A Sicurezza e avvertenza

y Leggere e comprendere l'intero manuale prima di montare, installare, utilizzare o effettuare
la manutenzione di questo prodotto. La mancata osservanza di queste avvertenze
e le istruzioni possono causare morte, lesioni personali o danni a
proprieta di valore. y
Rispettare tutti i requisiti del Dipartimento dei trasporti (DOT)
guando si utilizza questo prodotto. Utilizzare corde e cinghie per tenere saldamente tutti
carico in posizione.
y Non sovraccaricare il portapacchi. Non superare mai il peso massimo
capacita di 200 libbre. y
Assicurarsi che il veicolo sia in un luogo sicuro per caricare scale e altri
carico. Assicurarsi che il motore del veicolo sia SPENTO e che il freno di stazionamento
sia inserito prima di caricare o scaricare il portapacchi.
y Non utilizzare per trattenere o trattenere in alcun modo il peso di persone o animali. y Prima
e dopo ogni utilizzo, verificare che tutto I'hardware sia
saldamente fissati. Ispezionare regolarmente per eventuali danni. Se sfilacciature o distorsioni sono
trovato, interromperne immediatamente l'uso.
y Usa il buon senso quando lavori. Rimani vigile e concentrato quando
installazione e utilizzo del portapacchi. Non lavorare mai sotto il
sotto I'effetto di alcol, droghe o medicinali. y Durante
il montaggio e l'utilizzo del portapacchi, mantenere l'area di lavoro pulita e

ben illuminato. Tenere spettatori e bambini fuori dall'area di lavoro.

Specifiche principali

Serie di modelli Codice articolo: BYCD-002
Capacita di carico massima (libbre) 200

Peso lordo (kg) 20
MISURA(mm) Dimensioni: 980x780x190




Machine Translated by Google
Elenco delle parti

4

“%’7" e
' Of;) ), 9
; ‘/L//

Fage 10
4 i )
" L \8
figura 1
Articolo Nome Quantia Specificazione
1 Cestino anteriore 1
2 Cestino posteriore 1
3 Sella a cestino 4
4 Piastra superiore del cestello 4
5 Bullone a U 4 Vite M6x17.8x6 8
6 Bullone esagonale a testa tonda 4 M8x40
7 Prugna Noce 8 M637x23%23
8 Pastiglie piatte 4 M8
9 Piatto laterale 2
10 Controdado 4 M8
11 Rivestimento 2
12 Pacchetto di carico 1

Guida all'installazione:

Passo 1
Inserire i due involucri (11#) nel cestello anteriore (#1). Far scorrere il cestello posteriore (2#) per
cestino anteriore (#1) insieme. Fissare le piastre laterali (9#) con la testa rotonda

bullone esagonale (6#), cuscinetti piatti (8#) e dado di bloccaggio (10#) come mostrato nella figura 2.
Infine posizionare il cestino sulle barre portatutto del veicolo.

-3-



Machine Translated by Google

figura 2
Fase 2

Agganciare la sella (3#) al cestino, come mostrato nella figura 3. La sella deve essere
appoggiata sulle barre trasversali del veicolo. Fissarla con il bullone a U (5#), la piastra

superiore del cestino (4#) e il dado a piombo (7#), come mostrato nella figura 4.

]Nota: per ottenere il massimo supporto, posizionare sempre la sella lontano dal centro,

come mostrato nella figura 5.

figura 3

®

/‘

figura 5

figura 4



Machine Translated by Google

Effetto complessivo



Machine Translated by Google

Indirizzo: Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Sciangai

Produttore: Shanghaimuxinmuyeyouxiangongsi

Indirizzo: Shuangchenglu 803nong11haol602A-1609shi, baoshanqu, shanghai
200000 NC.

Importato in AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

Importato negli USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

CONSULENZA YH LIMITATA.
C/O YH Consulting Limited Ufficio 147, Centurion

RAPPRESENTANAA DEL REGNO UNITO

Casa, London Road, Staines-upon-Thames,

Viale della Vittoria, 101 00186 Roma

E-CrossStu GmbH

Rappresentaifte della CE Magonza LandStl’Gg,

60329 Francoforte sul Meno.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Baca para techo

MANUAL DEL USUARIO

Seguimos comprometidos a brindarle herramientas a precios competitivos. "Ahorre la mitad", "La mitad
El "precio” o cualquier otra expresion similar utilizada por nosotros solo representa una estimacion de los ahorros que
podria obtener al comprar ciertas herramientas con nosotros en comparacion con las principales marcas y no
necesariamente significa cubrir todas las categorias de herramientas que ofrecemos. Le recordamos que
Verifique cuidadosamente al realizar un pedido con nosotros si realmente esta ahorrando la mitad en
Comparacion con las principales marcas lideres.



Machine Translated by Google

VEVOR ® Portaequipajes de techo
Manual de usuario
TOUGH TOOLS, HALF PRICE

Modelo: BYCD-002

¢(NECESITA AYUDA? jCONTACTENOS!

¢ Tiene preguntas sobre el producto? ¢Necesita asistencia técnica? No dude en ponerse en contacto
con nosotros:

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las instrucciones del manual
antes de utilizar el producto. VEVOR se reserva una interpretacion clara de nuestro manual de
usuario. La apariencia del producto estara sujeta al producto que recibié. Perdénenos por no
informarle nuevamente si hay actualizaciones de tecnologia o software en nuestro producto.



Machine Translated by Google

A Seguridad y advertencias

Lea y comprenda todo este manual antes de ensamblar, instalar, operar o realizar mantenimiento
a este producto. Si no sigue estas advertencias
y las instrucciones pueden causar la muerte, lesiones personales o dafios a
propiedad valiosa.
Cumplir con todos los requisitos del Departamento de Transporte (DOT)
Al utilizar este producto, utilice cuerdas y amarres para sujetar todo de forma segura.
carga en su lugar.
No sobrecargue el portaequipajes. Nunca exceda el peso maximo
Capacidad de 200 libras.
Asegurese de que el vehiculo esté en un lugar seguro para cargar escaleras y otros
Asegurese de que el motor del vehiculo esté APAGADO y que el freno de estacionamiento
esté puesto antes de cargar o descargar el portaequipaje.
No lo use para sostener o restringir el peso de personas o animales de ninguna manera.
Antes y después de cada uso, verifique que todos los herrajes estén
bien sujeta. Inspeccione regularmente para detectar dafios. Si esta deshilachada o deformada,
encontrado, suspenda inmediatamente su uso.
Use el sentido comun al trabajar. Manténgase alerta y concentrado cuando
Instalacion y uso del portaequipajes. Nunca trabaje debajo del mismo.
influencia del alcohol, drogas o medicamentos. Al
ensamblar y utilizar el portaequipajes, mantenga el area de trabajo limpia y

Bien iluminado. Mantenga a los espectadores y a los nifios fuera del area de trabajo.

Especificaciones principales

Serie de modelos BYCD-002
Capacidad méaxima de carga (lbs) 200
20

Peso bruto (kg)

MEDIDA (mm) 980x780x190




Machine Translated by Google

Lista de piezas

Figura 1
Articulo Nombre Cantidad Especificacion
1 Cesta delantera 1
2 Cesta trasera 1
3 Silla de montar tipo cesta 4
4 Placa superior de la cesta 4
5 perno en U 4 M6x17,8x6 8
6 Perno hexagonal de cabeza redonda 4 M8x40
7 Ciruela 8 M6 37x23x23
8 Almohadillas planas 4 M8
9 Placa lateral 2
10 Tuerca de seguridad 4 M8
11 Caja 2
12 Paqguete de carga 1

Guia de instalacion:

Paso 1
Inserte las dos carcasas (11#) en la cesta delantera (#1). Deslice la cesta trasera (2#) hacia
Cesta delantera (#1) junta. Fije las placas laterales (9#) con cabeza redonda

perno hexagonal (6#), almohadillas planas (8#) y tuerca de seguridad (10#), como se muestra en la figura 2.

Coloque finalmente la cesta sobre las barras del techo del vehiculo.

-3-



Machine Translated by Google

Figura 2
Paso 2

Coloque el asiento (3#) en la canasta, como se muestra en la figura 3. El asiento debe quedar
sobre las barras transversales del vehiculo. Asegurelo con el perno en U (5#), la placa superior

de la canasta (4#) y la tuerca ciruela (7#), como se muestra en la figura 4.

]Nota: Coloque siempre el sillin alejado del centro para obtener el maximo apoyo, como se

muestra en la figura 5.

Figura 3

®

/‘

Figura 5

figura 4



Machine Translated by Google

Una vez instalado, el patrén de pentagrama de los paneles laterales mira hacia arriba.

Efecto global



Machine Translated by Google

Direccion: Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Llevar a la fuerza
Fabricante: Shanghaimuxinmuyeyouxiangongsi

Direccion: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 MN.

Importado a Australia: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

Importado a EE. UU.: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITADA.
C/O YH Consulting Limited Oficina 147, Centurion

REPRESENTANTE DEL REINO UNIDO

Casa, London Road, Staines-upon-Thames,

Surrey, TW18 4AX

E-CrossStu GmbH

REPRESENTANTE CE Mainzer Landstralle 69,
60329 Francfort del Meno.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Soporte técnico y certificado de garantia
electrénica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

BAGAZNIK DACHOWY

INSTRUKCJA OBStUGI

Nadal staramy sie dostarcza¢ Ci narzedzia w konkurencyjnych cenach. ,Oszczedz potowe”, ,Potowa
.Cena” lub jakiekolwiek inne podobne wyrazenia uzywane przez nas stanowig jedynie szacunkowe
oszczednosci, jakie mozesz uzyskac kupujgc u nas okreslone narzedzia w poréwnaniu z gtéwnymi markami
i niekoniecznie oznaczaja one objecie wszystkich kategorii oferowanych przez nas narzedzi. Uprzejmie przypominamy,
sprawdz doktadnie, czy sktadajac u nas zamoéwienie faktycznie oszczedzasz potowe
poréwnanie z wiodgcymi markami.



Machine Translated by Google

VEVOR ’ e

Instrukcja obstugi
TOUGH TOOLS, HALF PRICE

Model: BYCD-002 S —

POTRZEBUJESZ POMOCY? SKONTAKTU]J SIE Z NAMI!

Masz pytania dotyczgce produktu? Potrzebujesz wsparcia technicznego? Skontaktuj sie z
nami:
Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczyta¢ wszystkie

instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukcji obstugi. Wyglad
produktu bedzie zalezat od produktu, ktéry otrzymates. Prosimy o wybaczenie, ze nie
poinformujemy Cie ponownie, jesli w naszym produkcie pojawig sie jakiekolwiek aktualizacje
technologiczne lub oprogramowania.



Machine Translated by Google

A Bezpieczenstwo i ostrzezenia

Przed montazem, instalacja, obstuga lub serwisowaniem tego produktu nalezy przeczytac
i zrozumie¢ calg instrukcje. Nieprzestrzeganie tych ostrzezen
i instrukcje moga spowodowac $mier¢, obrazenia ciata lub uszkodzenie
warto$ciowy majatek.

Przestrzegaj wszystkich wymogoéw Departamentu Transportu (DOT)
podczas korzystania z tego produktu. Uzyj lin i mocowan, aby bezpiecznie przytrzymac wszystkie
tadunek na

miejscu.  Nie przecigzaj bagaznika dachowego. Nigdy nie przekraczaj maksymalnego ciezaru
nosnos¢ 200 funtéw.

Upewnij sie, ze pojazd znajduje sie w bezpiecznym miejscu, umozliwiajgcym zatadunek drabin i innych tadunkéw.
tadunek. Przed zatadunkiem lub roztadunkiem bagaznika dachowego upewnij sig, ze
silnik pojazdu jest WYLACZONY, a hamulec postojowy

zaciggniety.  Nie uzywaj go do podtrzymywania lub ograniczania cigzaru ludzi lub zwierzat

w zaden sposéb.  Przed i po kazdym uzyciu sprawdz, czy wszystkie elementy mocujgce sg
mocno zamocowane. Regularnie sprawdzaj, czy nie ma uszkodzen. Jesli wystepuje strzepienie lub odksztatcenie,
W przypadku wykrycia nalezy natychmiast przerwac stosowanie.

Podczas pracy stosuj zdrowy rozsadek. Zachowaj czujnosc¢ i koncentracje, gdy
montaz i uzytkowanie bagaznika dachowego. Nigdy nie pracuj pod
pod wptywem alkoholu, narkotykéw lub lekéw.
Podczas montazu i uzytkowania bagaznika dachowego nalezy zachowa¢ czystos¢ i

dobrze oswietlone. Trzymaj widzéw i dzieci z dala od obszaru roboczego.

Gtowne specyfikacje

Seria modeli BYCD-002
Maksymalna tadownos¢ (funty) 200

Masa brutto (kg) 20

MEAS (mm) 980x780x190




Machine Translated by Google

Lista czesci

Rysunek 1
Przedmiot Nazwa Tlos¢ Specyfikacja
1 Koszyk przedni 1
2 Koszyk tylny 1
3 Siodto koszykowe 4
4 Gorna ptyta kosza 4
5 Sruba U 4 M6x17,8x6 8
6 Sruba szesciokatna z tbem okraglym 4 M8x40
7 Orzech $liwkowy 8 M6 37x23x%23
8 Podktadki ptaskie 4 M8
9 Talerz boczny 2
10 Nakrgtka zabezpieczajaca 4 M8
n Obudowa 2
12 Pakiet cargo 1

Instrukcja instalacji:

Krok 1
Witz dwie obudowy (#11) do przedniego koszyka (#1). Przesun tylny koszyk (#2) do
przedni koszyk (#1) razem. Przymocuj boczne ptyty (9#) okragta gtéwka

Sruba szesciokatna (6#), podktadki ptaskie (8#) i nakretka zabezpieczajaca (10#) pokazane na rysunku 2.
Na koniec nalezy umiesci¢ kosz na relingach dachowych pojazdu.

-3-



Machine Translated by Google

Rysunek 2
Krok 2

Zatrzasnij siodto (3#) na koszyku, jak pokazano na rysunku 3. Siodto musi spoczywac na poprzeczkach
pojazdu. Zabezpiecz je Srubg U (5#), gérna ptytg koszyka (4#) i nakretka sliwkowga (7#) pokazang

na rysunku 4.

JUwaga: Aby zapewni¢ maksymalne wsparcie, zawsze ustawiaj siodetko z dala od $rodka,

jak pokazano na rysunku 5.

Rysunek 3

gk
&

Rysunek 4

Rysunek 5




Machine Translated by Google

Efekt ogéiny



Machine Translated by Google

Adres: Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Szanghaj

Producent: Shanghaimuxinmuyeyouxiangongsi

Adres: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, Szanghaj
200000 CN.

Importowane do AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

Importowane do USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITED.

C/0 YH Consulting Limited Biuro 147, Centurion
REP WIELKIE] BRYTANII
Dom, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH

Przedstaw|ciel UE Mainzer Landstr.69,
60329 Frankfurt nad Menem.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

DAKDRAGER

GEBRUIKERSHANDLEIDING

Wij blijven ons inzetten om u gereedschappen te leveren tegen concurrerende prijzen. "Save Half", "Half
"Prijs" of andere soortgelijke uitdrukkingen die wij gebruiken, geven slechts een schatting weer van de besparingen die u
kunt behalen door bepaalde gereedschappen bij ons te kopen in vergelijking met de grote topmerken en betekent niet
noodzakelijkerwijs dat alle categorieén gereedschappen die wij aanbieden, worden gedekt. Wij herinneren u er vriendelijk aan om
Controleer zorgvuldig wanneer u een bestelling bij ons plaatst of u daadwerkelijk de helft bespaart
vergelijking met de grootste topmerken.



Machine Translated by Google

VEVOR’
Gebruiksaanwijzing
TOUGH TOOLS, HALF PRICE

Model: BYCD-002

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan gerust

contact met ons op:

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support

Dit is de originele instructie, lees alle handleidingen zorgvuldig door voordat u het product

gebruikt. VEVOR behoudt zich een duidelijke interpretatie van onze gebruikershandleiding voor.

Het uiterlijk van het product is afhankelijk van het product dat u hebt ontvangen. Vergeef ons

dat we u niet opnieuw zullen informeren als er technologie- of software-updates voor ons product zijn.



Machine Translated by Google

A Veiligheid en waarschuwing

y Lees en begrijp deze hele handleiding voordat u dit product monteert, installeert, bedient of
onderhoudt. Als u deze waarschuwingen niet opvolgt,
en instructies kunnen de dood, persoonlijk letsel of schade aan uw kind veroorzaken.
waardevolle

eigendommen. ¥ Voldoen aan alle vereisten van het Department of Transportation (DOT)
bij het gebruik van dit product. Gebruik touwen en vastbindriemen om alles stevig vast te houden
lading op zijn

plaats. y Overbelast het dakrek niet. Overschrijd nooit het maximale gewicht
capaciteit van 200 Ibs. y

Zorg ervoor dat het voertuig op een veilige plaats staat voor het laden van ladders en andere
lading. Zorg ervoor dat de motor van het voertuig UIT staat, met de parkeerrem aangetrokken,
voordat u het dakrek laadt of lost. y Gebruik het niet om

op enigerlei wijze het gewicht van een mens of dier vast te houden of te beperken. y Controleer

voor en na elk gebruik of alle hardware is
stevig vastgezet. Regelmatig controleren op schade. Als er sprake is van rafelen of vervorming
gevonden, stop dan onmiddellijk met het gebruik ervan.

y Gebruik gezond verstand tijdens het werken. Blijf alert en concentreer je wanneer
het opzetten en gebruiken van het dakrek. Werk nooit terwijl u onder de
onder invloed van alcohol, drugs of medicijnen. ¥ Houd

tijdens het monteren en gebruiken van de dakdrager de werkplek schoon en

goed verlicht. Houd toeschouwers en kinderen uit de buurt van het werkgebied.

Belangrijkste specificaties

Modelserie BYCD-002
Maximale laadcapaciteit (Ibs) 200
Brutogewicht (kg) 20

MAAT (mm) 980x780x190




Machine Translated by Google

Onderdelenlijst

figuur 1 6
Item Naam Specificatie
1 Voorste mand 1
2 Achtermand 1
&) Mandzadel 4
4 Mand bovenplaat 4
5 U-bout 4 M6x17,8%6 8
6 Ronde kop zeskantbout 4 M8x40
7 Pruimnoot 8 M6 37x23x23
8 Platte pads 4 M8
9 Zijplaat 2
10 Borgmoer 4 M8
11 Behuizing 2
12 Vrachtpakket 1

Installatiehandleiding:

Stap 1
Plaats de twee behuizingen (11#) in de voorste mand (#1). Schuif de achterste mand (2#) naar
voormand (#1) aan elkaar. Bevestig de zijplaten (9#) met ronde kop

zeskantbout (6#), vlakke pads (8#) en borgmoer (10#). afgebeeld in figuur 2.
Plaats de mand ten slotte op de dakdragers van het voertuig.

-3-



Machine Translated by Google

figuur 2
Stap 2

Klik het zadel (3#) op de mand, zoals afgebeeld in figuur 3. Het zadel moet op de
dwarsbalken van het voertuig zitten. Bevestig het met de U-bout (5#), de
mandtopplaat (4#) en de pruimmoer (7#). Zoals afgebeeld in figuur 4.

Let op: Plaats het zadel altijd uit het midden voor maximale ondersteuning,
zoals weergegeven in afbeelding 5.

figuur 3

®

/‘

figuur 5

figuur 4



Machine Translated by Google

Algemeen effect



Machine Translated by Google

Adres: Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Sjanghai

Fabrikant: Shanghaimuxinmuyeyouxiangongsi

Adres: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.

Geimporteerd naar AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australié

Geimporteerd naar de VS: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITED.

VK REP C/O YH Consulting Limited Kantoor 147, Centurion
Huis, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH

EC- ?EP Mainzer Landstr.69,

60329 Frankfort aan de Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

TAKGRACKNING

ANVANDARMANUAL

Vi fortsatter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser. "Spara halften”, "Halften
Pris" eller andra liknande uttryck som anvénds av oss representerar endast en uppskattning av besparingar
du kan dra nytta av att kdpa vissa verktyg hos oss jamfort med de stora toppmarkena och betyder inte
nddvandigtvis att tdcka alla kategorier av verktyg som erbjuds av oss. Du paminns véanligen till
verifiera noga nar du gor en bestéllning hos oss om du faktiskt sparar halften
jamforelse med de framsta varumérkena.



Machine Translated by Google

VEVOR® o

Anvandarmanual
TOUGH TOOLS, HALF PRICE

Modell: BYCD-002 <

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfragor? Behover du teknisk support? Kontakta oss garna:

Teknisk support och e-garanticertifikat
www.vevor.com/support

Detta ar den ursprungliga instruktionen, 1&s alla instruktioner noggrant innan du

anvander den. VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet
pa produkten ar beroende av den produkt du fatt. Ursakta oss att vi inte kommer att

informera dig igen om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

A Sékerhet och varning

y Las och forsta hela denna manual innan du monterar, installerar, anvander eller servar
denna produkt. Underlatenhet att félja dessa varningar
och instruktioner kan orsaka dodsfall, personskada eller skada pa
vardefull egendom. y
Folj alla krav fran Department of Transportation (DOT).
nar du anvander denna produkt. Anvand rep och knytband for att sakert halla allt
last pa plats. y
Overbelasta inte takracket. Overskrid aldrig maxvikten
kapacitet pa 200 pund.
y Se till att fordonet &r pa en saker plats for lastning av stegar och annat
frakt. Se till att fordonets motor &r AV, med parkeringsbromsen atdragen, innan du
lastar eller lossar takracket. y Anvand inte for att
halla eller halla tilloaka manniskors eller djurs vikt pd nagot satt. y Fore och efter varje
anvandning, kontrollera att all hardvara ar det
tatt sékrad. Inspektera regelbundet for skador. Om fransning eller férvrangning ar
hittat, avbryt anvandningen omedelbart.
y Anvéand sunt fornuft nar du arbetar. Var alert och koncentrera dig nér
stélla in och anvénda takrécket. Arbeta aldrig medan du &r under
paverkan av alkohol, droger eller mediciner. § Nar
du monterar och anvander takracket, hall arbetsomradet rent och
val upplyst. Hall &skadare och barn borta fran arbetsomradet.

Huvudspecifikationer

Modellserie BYCD-002
Maximal lastkapacitet (Ibs) 200
Bruttovikt (kg) 20
MATT(mm) 980x780x190




Machine Translated by Google

Delarlista
3. e 3
\\*l’ & ) ¥
17 # 7 i) }
I 1 z " ,"7'4 :" & 'l ’ J
T P
G .
B —<= 1
X -
figur 1

Punkt Namn Antal Specifikation
1 Framre korg 1
2 Bakre korg 1
3 Korgsadel 4
4 Korg Toppplatta 4
5 U-bult 4 M6x17,8x6 8
6 Runt huvud sexkantsbult 4 M8x40
7 Plommonnét 8 M6 37%x23x23
8 Platta kuddar 4 M8
9 Sidoplatta 2
10 Lasmutter 4 M8
1 Holje 2
12 Lastpaket 1

Installationsguide:

Steg 1
Satt i de tva holjena (11#) i den framre korgen (#1). Skjut den bakre korgen (2#) till
framre korgen (#1) tillsammans. Fast sidoplatarna (9%) med runt huvud

sexkantsbult (6#), platta kuddar (8#) och lasmutter (10#) .visas som figur 2.
Placera antligen korgen pa fordonets takstanger.

-3-



Machine Translated by Google

figur 2
Steg 2

2 Snapp fast sadeln (3#) pa korgen, visad som figur 3. Sadeln maste sitta pa
fordonets tvarstanger. Fast den med U-bulten (5#), korgens toppplatta (4#)
och plommuttern (7#) som visas som figur 4.

]Obs: Placera alltid sadeln bort fran mitten for maximalt stod som visas
som figur 5.

figur 4



Machine Translated by Google

Total effekt



Machine Translated by Google

Adress: Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi

Shanghai

Tillverkare: Shanghaimuxinmuyeyouxiangongsi

Adress: Shuangchenglu 803nong11haol1602A-1609shi, baoshanqu, shanghai

200 000 CN.

Importerad till AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122

Australien

Importerad till USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

UK REP

EC REP

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147, Centurion
House, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH

Mainzer Landstr.69,
60329 Frankfurt am Main.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Teknisk support och e-garanticertifikat
www.vevor.com/support


https://www.vevor.com/support

	 Safety & Warning
	Read and understand this entire manual before asse
	Main specifications
	Installation Guide:

